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BACHELOR’'S DEGREE PROGRAMME
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00375

December, 2016

ELECTIVE COURSE : ECONOMICS

EEC-007 : INDUSTRIAL DEVELOPMENT IN
INDIA

Time : 3 hours ‘ Maximum Marks : 100

Note : Attempt questions as indicated in each section.

SECTION - A
Attempt any two questions : 2x20=40

1.  In the light of the globalisation of the economy
explain the problems being faced by the small
sector in India. What measures would you
suggest to overcome these problems ? 10+10=20

2. Discuss the significance of the concept of
‘capacity utilisation’. Throw light on the available
measures of capacity utilisation. Also bring out
the long-term trends in capacity utilisation in
India. 6+8+6=20

3.  Compare equity shares and debentures as a source
of raising capital. Also discuss the methods of
redemption of debentures. 10+10=20
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10.

11.

Discuss two main theoretical reasons that explain

the occurrence of strikes and lockouts. Do you
think that PSE workers are protected in many

ways that private workers are not ? 10+10=20
SECTION - B
Attempt any four questions : 4x12=48
Rapid industrialisation has come under attack 12
from several directions. Why ? Elaborate.
“The weak competitiveness of Indian industry is 12
to be traced to the macro economic environment
within which the Indian industry has to operate.”
Explain.
Make a critical evaluation of the pattern of growth ~ 12
in industrial sector during the period of planning
in India.
Discuss the advantages and disadvantages of FDI 12
in India.
Explain in brief the practice of mark-up pricing. 12
What do you mean by regional balanced 12
growth ? What are the reasons for regional
disparities in India ?
SECTION - C
Write short notes on any two : 2x6=12

(a) Agglomeratic Factors
(b) Barriers to Entry
(c) Sugar Industry in India
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